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問題Ⅰ 

⑴ !答" 𝑁 = 𝑚𝑔 cos 𝜃   

⑵ !答" 𝜇 = tan𝜃!   

⑶ !答" 𝑎" = −𝑔(sin 𝜃 + 𝜇# cos 𝜃) 

⑷ !答" 𝑌 = −
1
2𝑎"𝑡"

$		 

⑸ !答" 𝑎$ = −𝑔(sin 𝜃 − 𝜇# cos 𝜃)  

⑹ !答" 𝑌 = −
1
2𝑎$𝑡$

$			 

⑺ !選択肢" (イ)  

⑻ !答" 𝑟 = ;	
tan 𝜃 − 𝜇#

tan 𝜃 + 𝜇#	 

⑼ !答" 𝑊 =
1
2𝑚𝑢

$(1 − 𝑟$) 

(10) !答" 	𝑎	????⃑ (𝑡) = −𝑔 sin 𝜃	 	𝑒%	??????⃑ − 𝜇#𝑔 cos 𝜃	
	𝑣	????⃑ (𝑡)
C	𝑣	????⃑ (𝑡)C

  

(11) !選択肢"	 (キ)   

 

問題Ⅱ 

⑴ !答" DあE 
𝑉
𝑑    !答" DいE 

𝑒	𝑉
𝑑    

  !選択肢		DうE	" DウE   		!答" DえE 
𝑒	𝑎
𝑚𝑑𝑣 𝑉		 

⑵ !答" DおE 𝜇	𝑛	𝐼   !答" DかE 𝑒	𝑣	𝜇	𝑛	𝐼   

  !選択肢		DきE	" DアE   		!答" DくE 
𝑒	𝑎	𝜇	𝑛	𝐼

𝑚 		 

⑶ !答" DけE 𝜔𝐿𝐼! cos𝜔𝑡    !答" DこE −
	𝐼!
𝜔𝐶 cos𝜔𝑡    

	  !答" DさE M𝜔𝐿 −
1
𝜔𝐶N 𝐼! 	cos𝜔𝑡    		!答" DしE 𝜇	𝑛	𝐼! sin𝜔 𝑡		 

  !答" DすE 
𝐼!
𝜔𝐶𝑑 cos𝜔𝑡    !選択肢		DせE	" DエE  
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問題Ⅲ  

⑴ !答" 𝑇&" = 𝑇! +
2𝑄&"
5𝑅   

⑵ !答" 𝑊&" = 𝑅(𝑇&" − 𝑇!)  

⑶ !答" 𝑊&" =
2𝑄&"
5  

⑷ !答" 𝑉'$ =	
1
2	𝑉! 

⑸ !選択肢" (ウ)  

⑹ !答" 𝑇&$ = 3𝑇!  

⑺ !答" 𝑊&$ = 𝑄&$ − 3𝑅𝑇!   

⑻ !答" 𝑄&$ − 𝑄'$ = 3𝑅𝑇!	 

⑼ !答" 𝑄&$ = 3𝑅𝑇! + 𝑅𝑇! log 2 

(10) !答" 𝑇&( =
2𝑉! − 𝑉'(

𝑉'(
𝑇'(  

(11) !答" 𝑉'( = M
𝑇!
𝑇'(

N
(
$
𝑉!  

(12) !答"		気体Ａ，Ｂの内部エネルギーの合計  

3𝑅𝑇! + 𝑄&(  

 

 

 


